Solucdes 62 Série de Problemas

Termodinamica e Estrutura da Matéria
MEBM, MEFT e LMAC

1.3.) V2N1:0.61
1b) Tz/T1:1.22
l.c) W=-21.9J, AU=21.9 J, AQ=0

2a) 4%
2.b) Q;=1.26x10*°J
2.c) 1.1x10%kg/s
2.d) Q,=1.21x10*°J
2.e) AS/At (aguas superficiais) = -4.16 x10” J/Ks; AS/At (4guas profundas) = 4.16
x10” J/Ks;

3.a) Ta=304,7K; Tg =1523 K; Tc =914 K
3.b) W=4052J
3.c) Que=-6964J
3.d) n=37%

| 4.a)

4b) QAB:760 J; WAB:0 J; QBC:O J; WAB:760 J; QCA:WCA:'527 J
4.c) n=30.7%

4.d) ASas=1.76 J/K; ASionte=-1.09 J/K. O ciclo é irreversivel.

5.a) 7.5
5.b) W=1.33x10°J, Q=1.133 x10°J
5.c) P=73.9W
5.d) 2.784gls
5.e)

"6.a) 0.865 kg/m?
6.b) 3.67 atm



